[bookmark: _GoBack]A longer matching problem
Scoring system: Match = 2, Mismatch = 0, Gap = -1T
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Answers for a longer matching problem.
Scoring system: Match = 2, Mismatch = 0, Gap = -1

TAGCG—- (blue)    OR    TAGGG  (purple)
--GCGAT                 GCGAT
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  -5         -2          -1          0          1           2
  -4         -3          0          1           2           3
  -3         -2          -1          2          1           4
  -2         -1          0          -1          2           1
  -1          0         -1          0          -1         -2
   0         -1         -2          -3         -4         -5
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